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1.7 More Transformations

More Graphing: (by counting stretch from vertex)
Ex 2 Sketch F(x) = -2(x-1)*+6

Ex 1 Sketch F(x) = 3(x+4)2-5
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Ex 3: Sketch F(x) =/1ix?
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Easiest to state the equation i

if you can see the vertex.

Find the vertex (h, k)

Find "a" - decide if pos or neg from direction of opening
then count the stretch. o

1.
2.

State an equation for
each of the following:

Ex L \ L |
Verle x (Q‘—S> \ /
N \ /
Normal Pallen s —>
o= S
%(5 = (0(—2)1—3 P X
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Can't count the stretch...What do I do???

LK
Find an equation of the parabola that has a vertex of (3, -2) %

Yk e
and has an x intercept of 5 —= & P\t (g—) @) iﬁ(i?é(f
w

Aneing For K== ) 4

Verke(s -2) g=alx-3) -2
Pint (3? O=al-3y_7
O=a()y -2
) =Ha -2
2 = Ha
Lo

CEon Flx) = ?‘g(ﬁ(—3>2~ 2
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Features of Quadratics
Axis of symmetry

o The vertexof a parabola is either y x=h
the minimum point (opens up) or \ f 4
maximum point (opens down). \ i /j
e A vertical line of symmetry which \ :Ze"ic’_s /
goes through the vertex is called the ¥ | \y
axis of symmeftry. !/ X

. vertex—{h k)
e The x-intercept(s) of a parabola are 1|'

called its zeros or roots.

e The vertical intercept (the y intercept) is
the value of y when x=0 ie. f(0)
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o0 © x intercepts, solutions, roots <:|

The Number of zeros®

State the Number of zeroes:

a) From the graph:

Direction Direction
9 P of opening:mm{\

\ I /\ of opening:
T b vertex above _
JI | o beton meie BELORW or below axis: RO UL
),

# of zeros: ;2 # of zeros:

Direction

Direction of opening: E: LR

ing:_U P
of opening: V= vertex above

vertex above '
or below axis: ON-4x/s  ©°F below axis: OP-AXIs

A
# of zeros: #of zeros_—

Direction

Directi
ecron of opening:_ (D N

of opening: UP
P g vertex above

vertex above :
or below axis: fRovE  °F below axis:_12E LO W)

# of zeros: O_

# of zeros:O—
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Max/Min and the Number of zeros:

From the Equation:

y = 3(x+7)%-5
Direction
of opening: A

vertex above
or below axis:

# of zeros:

work break ....

Ieloo

400
Wexmint __>

occurs when:---4- ~

y = -(x+2)?

Direction
of opening:
vertex above

or below axis:__ 0"

dOw\f\

# of zeros: ONS
@/ﬁn:@_

occurs when:-----

September 19, 2017

y = 2(x-4)%+8

Direction

of opening:__ W P
vertex above

or below axis: O‘ba'f(

# of zeros: NP<
Meax in)__ S

occurs when:-----X "~ ¢

p47 # 1 State the number of zeros given the graph
# 2 State the number of zeros,max/min and when it
occurs given the equation
We will take this up as a class in

Feb 10-1:37 PM
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TN
Stating the vertical intercept 3 %\:‘o MY = O

f(x)=3(x-2)"3 5 ']
ﬁ—\(b) 3(6 j{? S Jr&\l U’UJY* .|’\\’UQ&P\’ s

Stating the Zeros

From a graph:

- 4] [ N L
! I | ! 1

S e = |

1

2

3
B

5

G4

' D=
From an equation in VERTEX form: S— S Sl\g! FCX O
f)=3(:=27 5 Sf(x)= —4(x +3)* - 8
L

O= %@(‘&5 R r (X ¥ 3) =4

5= 30 g— —«/ (xg)

) —\OXx—2 — = (Xt

3 )

T‘S\ w<f3
iE?X’D (‘o\V\*/S\““j
U@r(
A2 =R \D fRal FOOYS
ook Tiv<h open s %

Ao U(erQ/)(
wddﬂk QKIS

Sep 14-8:59 AM
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Hmwk p56 #3-5,7
p 204 # 5 (using algebra),8 ab, 9ab

Sep 13-3:59 AM



